ADAH 100 Wc:cic b Scavcngcr HUnt

i. Answer the questions in the Fo”owing interaction to complete the keg‘
2. USC the key to decipher the clues.

3. USC the clues to answer the question.

Key
K = z= Y = H= =
% = £= S = k= €=
5= L= R = = n =
N = H= = T= =

Clue #1 - X #

Clue#2-s N8 z §f 2z [ 2

Clue#3-HU H ¥ S § s [ SE#[ 8 KR 2HS
Clue#4- IR 2 § R S H &

Clue#5- § m ¢ ¥

Clue#6- XX m 3

Clue#7- s B [ MR T W z B

]c]enthcg the location/structure all 7 clues have in common and post in group discussion forum:




